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ECONOMICS - 11

3NITA - 11

If demand curve assumes the shape of a 1. afe =i o U AEAAHR Afqmgers w7

rectangular hyperbola, price elasticity is SR & & Y T A SR B
equal to :

(A)  zero A) =

(B) Iess than one (B) TwmEwHy

(C) greater than one ©) U 9 iy

(D) one ‘ (D) W=

Efficiency of distribution is 4 point where : 2. a9 =t ey g farg &, et -

(A) MRSAX, Y <MRSBX y (A) MRSAX,Y<MRSBX Y
(B) MRS, X,Y < MRS, X, Y (B) MRS, X, Y < MRS; X, Y
(©) MRSX, Y = MRSBX Y (©) MRSX, Y = MRSBX, y

(D) MRSAX,Y = MRSBYX v (D) MRSAX, Y = MRSBX y

A demand curve, which is parallel to the 3. Hi %, S Afgs AT & U § iR HET

horizontal axis, showing quantity, has the A B, o5 i o Fraferfag & ERCT
price elasticity equal to : Bt &

(A) Zero A) =

(B)  Infinity (B) emd

(C) Less than one ©C) wwawg

(D) One (D) TH

SPACE FOR ROUGH WORK / & 18 & o1 s
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For downward movement along the
ISO-quant, MRTS of labour per unit of
capital (MRTS i) is given by :

(A) —dK/dL
(B) dK/dL
(C) dL/dK

(D) —dL/dK

Match the following :
List -I List - II
(a) Rent is differential (i) Marshall
surplus between

marginal and super

marginal land

(b) Interest is the purely (i) Ricardo

monetary phenomena

(c) Quasi Rent Theory (i) Karl Marx

(d) Profit is the legalised (iv)
robbery

Keynes

Code :

@ ) (© @
A @ @ @ @)
®) @@ @ @) (@
© @) @ @ O
(D) @) Gv) @) @)

4. fr A TC ISO-quant ¥ MRTS 9 Hf
ot TR (MRTS, 1) T S0 T :

(A) —dK/dL
(B) dK/dL
(©) dL/dK

(D) —dL/dK

5. frefafa & e #

gt -1 gt - 10
(a) T A T SR (i) BN
yf %1 ST A ¢

(b) =t fergrg T = © (i) fanret

(c) T T s (i) <l e
() T IR SHAE () FH
%<

@ () (© @
Ay @ @ @
® @@ @ @ @
© Gv) @) @ O
(D) @) @) O @)

SPACE FOR ROUGH WORK / T d % ot s
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) Match the following : 6. Freafafaa = faam =% :

List - I List -II -1 -1
(i) James (a) Absolute Income () = TEET (a) oy s
Duesenberry Hypothesis qRehea
(i) Keynes (b) Relative Income (i) &= (b) dTIIHS A
Hypothesis qfehea 1
(iii) Ando and (c) Permanent (iii) e TE (c) TRl 3 aithea
Modigliani Income HrEmfeart
Hypothesis
(iv) Friedman (d) Life Cycle (iv) HIEHT (d) fed = fehedH
Hypothesis
Code : &R
G @) GH) @) 0 G G G
(A ® @ © @ (A ® @ © @
® @ ® @ © B @ ® @ ©
© ® @ © @ © ® @ © @
O @ © @ ® O @ @© (@ ()

7.  According to Milton Friedman Quantity 7. firees fipeti % STgar qa1 < iAo fagra

theory of Money deals with : EIRECER

(A) Prices (A) @A

(B) Income (B) M

(C) Supply of money (C) &1 Syfd
(D) Demand for money (D) ¥z b o

SPACE FOR ROUGH WORK / T% @14 & fod sig
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10.

i1.

Chamberlin introduced the concept of 8.
Cost known as :

(A) Fixed Cost
(B) Floating Cost
(C) Selling Cost
(D) Variable Cost

The Philips curve differ in Short run and 9.

Long run in terms of :

(A) . Sloped coefficient
(B) Variables associated
(C) Constant associated

(D) Expectation mechanism

Lipsey’s theory for the phenomenon of  10.

Philips curve depends on the concepts
of :

(A) Price adjustment rule
(B) Output adjustment rule
(C) Wages adjustment rule
(D) All of the above

Welfare is an : 11.

(A) Subjective Concept
(B) Objective Concept
(C) Concept based on value judgement

(D) Both (B) and (C)

STEEE 3 SN bt STaHRN 1 et w9 #
EIQH]%F&!T:

(A) TR AT

(B) SIOTEAT ST

(C) forra wrma

(D) ufEdTeia @

TR T SeenTel § frfarey sk forg wrd
RRE ST R?

(A) TR T €T
(B) R THFH

(C) THadiss w9
(D)  STAM AT

for =t frford o =t geomm a5 fasra
Wi YR ST |

(A) T ST
(B) SR SR
(C) el ST
(D) SUde |t

FHET T

(A) fomraeer. gron
(B) I HROM
(C) YRUMUTE qeo 379
(D) (B) @& (C) <M

SPACE FOR ROUGH WORK / ¥ &4 & fad g
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12. Concept of conspicuous consumption 12. YOI IUENT I YROT 1 HiqureT fHan @
was introduced by :

(A) AK. Sen (A) TH &
(B) KN. Raj (B) H.TA. TN
(C) Max Weber (C) T AR
(D) T. Veblen (D) . AaeH

13. Amount of Investment needed to 13. 3fegaeen & s fafvem wfawa o ECEcD
increases the economy by a particular fore faf=iT =6t AN eTavas ® -

percentage is :

(A) ICOR+AY (A) ICOR+AY
(B) ICOR-AY (B) ICOR-AY
(C) ICOR/AY (C) ICOR/AY

(D) ICORXAY (D) ICOR xAY

14. Which act was passed to control 14. UHI¥HR &l A w0 ¥g ik ifufmm

monopoly ? g

(A) ECA (A) ECA

(B) MRTP (B) 'MRTP

(C) FERA (C) FERA

(D) I(D & R) Act (D) 1(D&R) Act

SPACE FOR ROUGH WORK / T® &8 & o s1g
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15

16.

17.

Match the items givenin List-Iwith those ~ 15.
in List - I :
List - I
PQLI

HDI

List - II
(i) Morris D. Morris
(i) Gunnar Myrdal
A. Sen

R. Solow

Asian Drama
Neo-classical ~ (iv)
growth model

Code :
(a)
()
)
(iv)
(iv)

©
i
)
@
i)

(d)
(iv)
(iv)
@)
@)

(A)
(B)
©
(D) (i)

Who among the following gave the law  16.

of Increasing State Activities ?
(A)
(B)
©)
(D)

Musgrave
Wiseman Peacock
Wagner

Dalton

Which of the following tax systems  17.

promotes more equitablé distribution of
income ?

(8)
(B)
©
(D) Indirect

Progressive
Regressive

Proportional

[ - 1% 9 g - 1% A A
TRy
g - 1 -1
PQLI G waw . A
HDI (i) TR HRES
wiEE g (i) T 8T
frl-gefasa (iv) SR Hell
Ty Higd
X
@ @® ( (@
(A @ @ @) @)
B @ @) @ )
©) (v) (@) @ @
(D) (v) (@) (i) @
Frefafaa § @ ‘T i gt et %
T 1 wfaures % € 2
(A) wEE
(B) ST Uidhish
(C) IR
(D) STeeA
frafofea # 9 an @ & usfd, fus we
a1 feraur st Hreefed L 2
(A)
(B) Wit
(©) emgTia
(D) T

SPACE FOR ROUGH WORK / T% & & ford S8
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18. Which of the following tax contribute  18.

maximum in total tax revenue of the
- central government of India ?

(A) Personal Income Tax
(B) Corporation Tax
(C) Excise Duty

(D) Customs Duty

19. Essential quality of pure public goods : 19.

(@) Consumed by all members of a
community

(b) Its benefits are non-rival

(c) Its benefits are non-excludable
(d) That generates no externalities
Code :

(A) (a) and (b) are correct.

(B) (b) and (c) are correct.

(C) (a), (b) and (c) are correct.

(D) (a) and (d) are correct.

IRA § s WHR F FeT H qora § e
R ANQH T §?

(A) KT 3T

(B) TmH *

(C) IR I

(D) Hmyen

Y AEIfTeh TEgeii ol STavae U B

(a) EHEME % Ut ANl gRI ST

(b) U @YW wiagfgar Ied B €
(c) 3% wIY soiHiga ad 8 §
(d) STRrRT W1 goid T dral
He:

(A) (@) () T T

(B) (b) T (o) WAE!

© (a) (b) W (o) W ¥

(D) (a) Wd (d) & )

SPACE FOR ROUGH WORK / T® &1d & for&t se

0128/ TFU-ECO/ELG-II 9



20.

21.

Relative to the Thirteenth Finance
Commission the Fourteenth Finance
Commission incorporated which new
variables for horizontal distribution ?

(a) Fiscal Discipline

(b) 2011 Population

(c) Fiscal Capacity/Income Distance
(d) Forest Cover

Code :

(A) (a) and (b) are correct.

(B) (b) and (c) are correct.

(C) (b) and (d) are correct.

(D) (c) and (d) are correct.

The said that

international trade was based on the

Economist who
principle of absolute advantage is :
(A) ]S Mill

(B) Adam Smith

(C) Bertil Ohlin

(D) David Recardo

20.

21.

=R (&fae) famo & fodr <iees fam
3T GRT ORgd o STREIRT <6 gor T | i 9
T4 <RI ! At e T § 2

(a) TSI STIIEA

(b) 2011 SEEA

(c) TSTRIYT &war/ g gl

(d)y <Tr=IeA

(A) () T (b) T T
(B) (b) T (o) T &I
© (b)) (T E
(D) (c) W& (d) ¥R §1

7g forg rdfafer o1 %uF ® &% s
SR fFRAe o % faera W seia 72
(A) SwE. faa

(B) TeH femy

(C) s sisfer

(D) Sfae el

SPACE FOR ROUGH WORK / 1% @14 & fad sme
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22,

23.

24.

Exchange rate is kept the same in all parts
of the market by :

(A) exchange arbitrage
(B) interest arbitrage
(C) hedging

(D) speculation

Monetary approach to views the Balance

~of Payments (BOP) as an essentially :

(A) Monetary Phenomenon
(B) Tariff Payment
(C)  (A) and (B) both

(D) None of above

With respect to International Trade, the
theory of comparative advantage was
propounded by :

(A) Kindleberger
(B) Alfred Marshall
(©) JS. Mill

(D) David Ricardo

22,

23.

24.

SR % Gt it ferfrr <3 B e g
T GO @ Sar &2

(A) fafra foemem
(B) <A feremer
(©) &
(D) weamsit

WWWWWWW
1 Tfarda: U d Tmar s .

(A) s g
(B) X ymaH
(©) (&) (B) <R
(D) ST & =¥ et

aﬁ@aw%@aﬁﬁmmm
fagia ftrarfea fopan man o .

(A) fersaait

(B) 3Ic%Re wIIle

©) S fuys

(D) Sfag Rewret

SPACE FOR ROUGH WORK / T% &1d % fory e
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25.

26.

27.

Expenditure-switching policies used to 25,

correct deficit in balance of payments
work mainly through changes in :

(A) Bank Rate
(B) Exchange Rate
(C) Taxes

(D) Subsidies

In India, migration is caused mainly by : 26.

{(A) Social Factor
(B) Economic Factor
(C) Religious Factor

(D) Demographic Factor

The Portfolio investment by foreign 27

institutional investors is called :
(A) FDI

(B) FII

(C) BOP

(D) SDR

m—qﬁaﬁﬁﬁﬁms@n#ﬁwﬁ
o or: $HE UiEdd At GHR ST
%: S |

(A) kR

(®) fafma T

© =

(D) T TR

e T e g e e HE €
(A) TS HE
(B) oMYk FH
(C) wiHe HH

(D) ST FH

ﬁ@ﬁmﬁ%ﬂﬁmmwﬁéﬁm
31 hEETT © ¢

(A) THELIME.
(B) TUH.3TE.IR.
(C) WL,

(D) TEELIM

SPACE FOR ROUGH WORK / T% &1 & ol SR
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28 Match the items in List - I with items in
List - II and select the correct answer
from the code given below :

List -1 List - II

(@) Net Domestic (i) GDP — Income
Product from abroad

(b) Gross National (ii) Value of Gross
- Product Domestic Product
~ Value of
Intermediate
Consumption

(¢) Net National (i) GDP-—
Product Depreciation

(d) Gross Domestic (iv) GDP +Income
Product from abroad —
Depreciation

Code :

@ ® (9 (9
(A) @ @ @ @)
(B) (@) & @ (i)
© @ @ @) (@

D) O @ @) (@)

28. |EH - 1H R TE 7S ol Gelt - 11 H < T W

% Wy gafea # &R IR @ T % 3wl
I T B
e - 1 et - 1
(@) YENGSTR () AW - feuid
< 3

(b) T T IS (i) Tehel SN IS
A - HAegad!
3T T HeH

© TS UL IS (i) SN -
fergmee =9

(d) TFd NG IR (iv) SN + fawi @
9T A —

fefufaaem ==

@ () () (@
(4 @ @& @ @)
(B) (@) @ @ (i
© @) @ @) @@

D) @& @ @ @)

SPACE FOR ROUGH WORK / {0 & & ferid S1re
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29.

(b)

©
(d)

30.

Match the items in List - I with items in
List - II and select the correct answer

from the code given below :
List - I List - IT
Jawahar Gram (i) August, 1995
Samridhi Yojana

National Family (i) April , 1999

Benefit Scheme

MGNREGA (iii) August, 1995
National Old  (iv) October, 2009
Age Pension

Scheme

Code :

@ () (© (4
(A) @ @) (i)
B @ @) (iv)
©) (@) @) @ @
D) @) @ @ G

If x and y are two independent variables,
then their co-variance is :

(A) Unity
(B)
() 2.0

Zero

(D) -1.0

29.

(a)

(b)

©
(d)

30.

et - 1 H < 7 we gt - 1 d & e

& 1y gafem w w9 @ T 52 D w@
IR TIT B
T - 1 g - 11
e UM Tl (i) ST, 1995
EIEE!
e wieet @) e, 1999
Sffre whim
TS A (iii) 31T, 1995
WA IeE T (iv) TR, 2009
EREREI
He :

@ (b) () (@)
(A) @ @ G@v) ()
B @ @ @) @)
© (@v) @) @ @
(D) @) G @ (@)

g x 3Ry & A W R @ T

- ¥
(A) TR
(B) A
€ 2.0

(D) -1.0

SPACE FOR ROUGH WORK / T® &%/ & a2 e

0128/ TFU-ECO/ELG-II



31.

32.

33.

For a Binomial distribution the following
informations are given :

N =60

p=0.70

q=0.30

Then the variance of the distribution is :
(A) 12.6

(B) 8.6

Q) 7.6

(D) 6.6

If B, > 3, the Curve is called :
(a) Platykurtic

(b) Leptokurtic

() Mesokurtic

Code :

(A) (a), (b), (c) are true

(B) (a) and (c) are true

(©) (b)is true

(D) None of the above

If the co-efficient of determination is 0.12
and one of the regression coefficient is
0.3; what is the value of the other
regression co-efficient ?

(A) 0.4
(B) 0.9
© 0.36
(D) 0.15

31.

32.

33.

w fgug famm & fod freer gt &
wE:

N =60

p=0.70

q=0.30

T 39 TR 1 JEor e

(A) 12.6

(B) 8.6

C 7.6

(D) 6.6

Ifg B, >3, T 5 FeI ©
(a) wrdeHFE

(b) FTHH

() WHeEHRFE

&R

(A) (a), (b), () W& &
(B) (a) W (c) &

© (=T

(D) SR H H wig Tl

Ifg Frafeor uiis 0.12 ¥ IR TF wdwEE
T 0.3 T, T GO TATTHA 7Ol H god
1 BRI 7

(A) 0.4
(B) 0.9
(C) 0.36
(D) 0.15

SPACE FOR ROUGH WORK / T% &9 & e/l w8
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34.

35.

36.

@

The geometric mean of the numbers  34.

2, 4,0, 16, 32 will be equal to :
(A) 3.2

(B) 4.0

(C)y 2.0

(D) Zero.

A bag contains 7 red, 12 white and 35.

4 greeﬂ balls. One ball is drawn from the
bag, what is the probability that it is
white ?

12
(A 33
23
® 15
7
©) =
4
D) 5

For a symmetric distribution Skewness B, 36.

is:

3
() 0
© 1
d 2
Code :

(&) (), (b), (c) are true
(B) (b)is true

(C) (c) and (d) are true
(D) None of the above

2,4,0,16, 32 T3 ST SAITHITT H1E TR
BT :

(A) 3.2

(B) 4.0

(C) 2.0

D) xA

Tk o H 7 e, 12 Uhe a1 4 &4 T €
& H | TF g Frere S ¥ 3EE Whe
BN W GHTeAT fohat Bt ?

E
23
y 2
B) 15

7
© =

(A)

4
D) 5
THfHd se & foaa fawma (B,) B 2

(@) 3
) 0
1
2

G

)
d)
E X

(A) (@), (b), () T E
(B) (M) WEE

C) (o) (d) we &
(D) Wi # ¥ HE T

—

SPACE FOR ROUGH WORK / 1% &4 & fel Smig
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37.

38.

39.

Which statement is not true about law of
demand ?

(A) Itis a qualitative statement.

(B) It shows inverse relationship
between price and quantity
demanded.

(C) It explains the percentage change
in demand.

(D) It explains the cause and effect
relationship  between  the

independent  variable and

dependent variable.

What is called the shift in demand curve

“to the left side ?

(A) Extension of demand
(B) Contraction of demand
(C) Increase in demand

(D) Decrease in demand

The production function for a commodity
is given by Q=20JVKL,
Q= Quantity of output, L =Quality of
labour and K = Quantity of capital. Given
the above information which one of the

where

following is the nature of returns to scale
throughout the function ?

(A) Constant Returns to Scale
(B) Decreasing Returns to Scale
(C) Increasing Returns to Scale
(D) Both (B) and (C)

37.

38.

39.

i & g & ey § S 91 Ry TE T

®?

(A) I8 TH TUTHS F T

(B) IEHITA Ta A At W 6 s feradic
Y I Sl

(©) = Wi & whwd uRed 1 e W
g .

(D) e e R TS I =R < off= %o
& Ry FeiY ) GHEE |

T a5k T 9 SR R S R e

(A) #T  foeR
(B) I 1 W
(C) wimd s
(D) W H HH

ferdll % 1 3R Fed Q=20/KL ER

e T ¥ SR Q=3I &I WAl L=
 TUEE iR K=t @ 7fe 1 S
Yo % SR R Fase fF 71 9 § o
T ¥ e 2 e it yafa et 872

(A) Ter fed ¢ @&a
(B) et Red ¢ whe
(C) it Tz g wha
(D) (B) ¥R (C) Tl
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40.

41.

Demand =8 —P, Supply=4+P, the

equilibrium price and quantity

respectively are :
(A) 2andé6
(B) 2and 4
(C) land3

(D) 5and 10

From which of the following axioms, does
the property that indifference curves for
a consumer cannot intersect each other ?
(a) Axiom of non-satiation

(b) Axiom of transitivity

(c)  Axiom of reflexivity

(d) Axiom of convexity

Code :

(A) (a) and (c)

) () and (d)

(€) (b)and (¢)

(D) (a) and (b)

40. TM=8-P, AMfd=4+P ¥ 3§ feufy o

41.

A ShiFa al AT HH: B

(A) 2WE6
(B) 2TE4
(C) 1T3

(D) 57THE 10

Frfafaa sl 9 feg qoed & T
T § TR STE % A I TH T
& TE P T T2

(a) oGl sfwEa
(b) Eeprt IR
() e firEa

(d) e ARFRET

(A) () T (o)
(B) (2 W (d)
© (b) T (o)

(D) (a) T (b)
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42,

Assertion (A) :
Marginél cost curve is U shaped.
Reason (R) :

The law of variable proportions operates
in production sphere,

Code :

(A) Both (A) and (R) are individually
true and (R)

explanation of (A).

is the correct

Both (A) and (R) are individually
true and (R) is not the correct

(B)
explanation of (A).
(©)  (A) is true, but (R) is false.

(D) (A) is false, but (R) is true.

According to investment multiplier, when

investment increases ——____also

increase but by a multiple amount,
(A) Income
(B) Exports

(C) Foreign exchange

(D) Labour productivity

42,

43.

ARTHYT (A) -
WHSWWUWRW@?H%I,
T (R) :

SRS &7 ¥, aRadqsiey
[ERINIRenIR

%2‘:

a9 g

(A) 91 (R) =FF @&t ¥ oik
i TE ==

(A) (R), (A)

(A) T (R) 3 W& ¥ aik (R), (A)
! TEI saren e 2

(B)
(©  (A) T & 9 (R) Tom ¥
(D) (A) 379 & g (R) Tew &

%W%WWWWW%
T ol e § v v e
U H |

(A) M3

(B) Tl

(C) Taeen fafmy

(D) 9 SRl
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44.

45.

According to Tobin, transaction demand  44.

for money depends upon

(a) interest rate

(b) population growth rate
(c) unemployment rate

(d) exchange rate

Code :

(A) (a) only

(B) (b)and (o)

(©) (9) and (d)

(D) (b), (c) and (d)

Assertion (A) : 45.

Increase in export leads to rightward shift

in IS curve.
Reason (R) :

In flexible exchange rate system central
bank interferes in foreign exchange
market.

Code :

(A) Both (A) and (R) are correct and (R)
is the correct explanation of (A).

(B) Both (A) and (R) are correct, but (R)
is not correct explanation of (A).

(C) Both (A) and (R) are wrong.

(D) (A) is correct, but (R) is wrong.

S S STER T oF-3 1 AT F1eR T
¥ W

(@) SN

b) Eem Ifs
(€ ST R
d) Tafma
e

(A) I (a)

(B) (b))
(©) (o) W (d)
D) (), () 3R (d)

AR (A)

frerfa B gfg § IS o T SR TR
E2GIR

T (R) :

AR fafma o yonel § HEE o
ngﬁmﬁwﬁwaﬁm%i

%<

(A) (A) T (R) S TR g 3 (R), (.
1 e e B

() (A) @ (R) 3 W&l €, TG (R), (
] Td e T T

(C) (A) Tl (R) S e 2|
(D) (A) T ¥, T (R) 7T B
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46.

47.

48.

According to Mundell - Fleming model ~ 46.

under flexible exchange rate and perfect
capital mobility _

(A) fiscal policy is ineffective

(B) fiscal policy is effective

(C) monetary policy is ineffective
(D) foreign policy is effective

____is/are the important feature(s) 47.

of Keynesian theory of output and
employment.

(a) Underemployment equilibrium
(b) Supply is important
(c) Voluntary unemployment

(d) Demand is important

Code :

(A) (a) and (b)
(B) (a) and (d)
(© (a) and (o)
(D) (c) and (d)

Which statement is not true about MPC 48.

(Marginal Propensity to Consume) ?

(A) The value of MPC is always
positive.

(B) MPC is greater than zero.

(C) MPCincreases as income increases.

(D) MPC of the poor is greater than of
the rich.

Ted - wAfHT "ied & STUR qierd-=ie
fafrm X qen ot it wiforeiier & st -

(A) T Hfq stoifed w@ gl
(B) Tshioia Hfe yunfaa e T
(C) T ifq eTyefer wam B |
(D) fadw =ifa wenfaa &t

Iqeq 3R USTIR 9§ Heifeg =i & fagia
F TEYUi HRE /T

STEIUSTTR FHIEI

Y Hew
=3 SRS

i g

~~ AA?/\
TPz

(a) 3R (b)
(a) 3R (d)
(a) ¥R ()
(c) 3 (d)

=

CRG

Hwia sl yafa & deig § A @1 %A

e T €2

(A) A A 9gfa F1 e g
YT B & |

(B)  iwia S wafa 3 9 st At B

(C) i 3asiT afr aredt & SRy o s
SRR

(D) fefa SRl =it Swid Iae wgfe i
A g W St/ 3tfes Bt T
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49,

50.

51.

Which is the formula of Investment 49,

Multiplier of Keynes ?

(G s 1—13/IPS |

(B) K= 1—1\213(:

© K=%y

® K= ac
AY

The life cycle hypothesis of consumption  50.

implies that consumption is related to :
(A) Price expectation over one’s life time
(B) Permanent income

(C©) Transitory income

(D) Expected life income

According to Friedman, on which of the 51.

following does the velocity of circulation
of money depend :

(a) Market interest rate on bonds

(b) Rate of change in general price level

() Ratio of physical non human
wealth to human wealth

(d) Ratio of savings to investment
Code :

(A) (@) and (0)

(B) (), (b) and (¢)

(©) (a) (b) and (d)

(D) (d) only

I 5 7o O g R ?

(Aa) K=

®) K=
ac
AY

1-MPC
©) 5= 7ac
AY

© K=

SUHT 8 Heiftd Sited =k w1 afeheq T &
STER SYHIT h1 T

(A) THER ST i T HITd FRT
(B) Tl A

(C) HwHuita 3T

(D) SiteH 371 =t g

weHd % FgER fr= § fFe w g1 =

g e s ©7

(a) TSH T SIS AT R

(b) EHH A W1 H IREdT &

() ifdew R IFe ger @ aeety
HWQIW\"{:;LIICI

(d) Trew 9 =@ =t s

C T

(A) (a) ¥R (o)

(B) (a), (b) ¥R (o)

© (@) (b) ¥R ()

(D) e (d)
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52.

53.

Assertion (A) :
The money creation multiplier is equal to

the reciprocal of the minimum reserve
ratio.

Reason (R) :

The banking system as a whole can grant
new credit up to amount of excess

reserves.
Code :
(A) Both (A) and (R) are individually
(R) is the correct
explanation of (A)

true and

Both (A) and (R) are individually
true, but (R) is not the correct

B

explanation of (A)

©)
(D)

(A) is true, but (R) is false
(A) is false, but (R) is true

Two gap analysis in the context of foreign
aid or foreign borrowing of capital by
developing countries to achieve rapid
economic growth can be represented by :

(A) Savings-Investment gap equals

import-export gap.

Saving-Consumption gap’ equals

(B)

import-export gap

(©)

Saving-income gap equals import-

export gap
(D) Saving-investment gap equals

import-income gap

52.

53.

AR (A)

TR Yo TR, gAaH AR g9
1 Tl & e B 81

HROT (R) :
e ot St gt sTot tfafte fio %
SR W AR =Y 3hfee o foag ufe T dedl

I
e
(A) (A) T (R) 1 53 € iR (R), (4)
& wE = ¥

(A) e (R) I T €, 9 (R), (A)
) g e = ¥

(B)

(A) T B, T (R) 36A B
(A) 379 T, T (R) 94 B

(©
(D)

e anfde fawm =1 g & gHor §
faerrasiter <9l R b1 ST arell faeel wema
TSt st faReft SuR 4S F wed A
fe—sfaudt faveor 1 ewian < 9l @ :
(A) w=a - e o, smm-faid
SAUA F TS BT |

FEA-IIWI e, Arara-fata
AT F T B R |

(B)

-3 IaUd, 3a-fata ofaud
¥ FUE B’
SEa-T1aw STaud, 3Taa-3Td Saue
¥ SaC BT ¥

©

(D)
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54.

55.

Which of the following statements are 54,

correct ?

(@) Backwash effect of trade is the
unfavourable effect of foreign trade
on developing countries.

(b) Spread effect of trade means
increase in  demand  of
underdeveloped countries

products.

(c) Backwash effect of trade is the
favourable effect of trade on
developing countries.

(d) Spread effect of trade means
diffusion of technology and
knowledge of developed countries
in the underdeveloped countries.

Code :

(A) (a), (b) and (d)
(B) (a), (b) and ()
(©)  (®), () and (d)
(D) (¢) and (d)

In growth model of Harrod, steady state  55.

growth is possible if G, =Gy, =n, here G ,
means

(A) Actual growth rate

(B) Warranted growth rate
(C) Expected growth rate
(D) Natural growth rate -

fEdfas s ad £

(a) Toreraeiier <3l TR SATIR i SehaTe Fue
foreeT =R % e % yfdewer g 2

(b) TIT MR G9E F1 e, Srefamiaa
oW % IRl F w9 H gfg A ¥

(c) Tormreaitel U W AR 1 Sehare T4
SR & AT ST q9TE Seran §1

(d) =R F BT YT H1 e, foenfaa
<9 o oS 3R F1 % STeaferhiia
<9 7 famm @ ®

E TR

(A) @, (b) 3R (@)
(B) (@), (b) 3 (c)
© (@) (0 ¥R (d)
(D) (o) ¥R (d)

e & gfs dred H, fer sraeen gfg ot
G € AR G, =Gyy=n, T G, #1374 ¥
|

(A) wrEfas gfg
(B) WR=T e
(C) ol gfg =
(D) w@wifasw gfg
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56. is associated with the  56. %1 ey 3 faau & e

inverted U shaped hypothesis of income U ehiiia afiehea 9 B |
distribution.

(A) Mahbub-ul-haq (A) HEIH-3A-8h

(B) Amartya Sen (B) oI SE|

(C) Simon Kuznet (C) WA FHoe

(D) M. Ahluwalia (D) TH. SFEeEIerE

57. Autonomous investment depends upon  57. ¥&MET fom syefed g § l

(a) Income (a) & W
(b) Population growth (b) SFEEN gfE W
(c) Labour force growth (c) gft® o gfg W
(d) Innovation (d) TEEIR R

Code : %< :

(A) (a) and (b) (A) (@) 3R @)

() (a) and (©) B) () 3 (9

© (@), (b) and () © (@), ®) ()
(D) (), (c) and (d) : (D) (), () 3 (d)
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59.

60.

_ (B) Agricultural

organisation at the national level which
deals in procurement, distribution, export
and import of selected agricultural

. commodities.

(A) Central warehousing corporation

Refinance
development corporation

(C) National Agricultural Cooperative
Marketing Federation of India

© (D) "National Bank for agricultural and

* rural development

What is trend of Central Tax Revenue as 59,

percentage of GDP during Eleventh Five
Year Plan ?

(A) Increasing Trend
(B) Decreasing Trend
(C) Constant Trend
(D) Erratic Trend

Who was appointed as chairman of the  60.

High Level Expert Committee on Efficient
Management of Public Expenditure in
India ?

(A) P.V. Reddy

(B) Vijay Kelkar

(C) C. Rangarajan
(D) Raghu Ram Rajan

is the apex cooperative 58,

rrg”rqwm@aﬁ‘}aﬁ
ﬁw&am%ﬁwﬁawm
wwmﬁmwﬁahqamm%n

(A) VT IS FEREH
(B) TieEtet RO Soeai HIiRem

(C) e WiiweaRa Hi-SaRfed qrhf
HEWH AF e

(D) A¥A % BR Wiwewe We &
TIAE=

TRE] Yaasig Qe At § e TR
& F-TT & T Tt e S F
yiaea & &9 H T 82

(A) e g€ v

(B) Wt g W

© feryafa

(D) 3R Fgr At yaf

YA H WrESI+eh 2 % FIA Foirud % fag
Tfed I Wl fodivg afafq & ey $F
gt fopg ™ 92

(A) q& ==
(B) fasa Fea
(C) . IwH
(D) T TS
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61.

62.

(D)

Which is not included in the major
recommendations of Thirteenth Finance

Commission ?

(A) The states will get share of 32% of
net receipts of central taxes.

The states will get share of 39.5%
of the Gross Revenue Receipts of
“the Central Govt.

(B)

The states have to achieve the
targets led down under FRBM till
2011-12.

©

The recommendations of the FC for
the period 2011 to 2016.

Which is not included in Efficient
Management of Public Expenditure ?
(A) Budgeting would be linked to
outputs and outcomes.

Introduction of an ‘adjusted

(®)

revenue deficit’.

Complete treasury mode will be
adopted.

Capital expenditure should relate to
the creation of assets.

61.

62.

A form o & v gl § R wfaet
& fra T R ?

(A) T3 F=E w1 F fags wieEl s
32 gfaem fewar ura w4 |

T T IR & Hehel Ysia iftaal
=1 39.5 wfawe fegm ura 3|

(B)

Tl ol TSI ST T el
e s1fufEm & ofaia fruifa el
T 2011-12 T I HH BT

forar a1 61 Farwmifsl = 2011 § 2016
+ srafy & fau &

(D)

Grewiieh o9 % e YoeE | e i
& fepan T 2

(A) SIS I STEH Ua Wil § el 4 |
(B) QIS TS WA hT YE |

(C) ol it yomredt i @ feman S|

(D) Usima = o ufkufe & gem 9@
SISl S = el |

SPACE FOR ROUGH WORK / T& &1d & &8 wg
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63.

64.

The doctrine of purchasing power parity
indicates that balance of payments
disequilibrium, which is due to inflation,
may be corrected by :

(A) Depreciation of the foreign
exchange rate by the same
percentage as the price rise

(B) A general price deflation

(C) Anincrease in the money supply by
the same amount as prices

(D) Appreciation of foreign exchange
rate by the same percentage as the
price rise

As a result of imposition of tariff :
(A) Price of import good goes up

(B) Domestic consumption of import
good goes down

(C) Domestic production of import
competing good increases

(D) All the above

63.

64.

AR WAl I8 < § fF e daerw
YT T STHAGeaar s fowfa w1 aRom §
T U ST Hohell ©

(A) faesit fafma )+, Fivd gfg & <@t
Fieed | ST L F |
(B) WM whiva H ARG T

(C) hiwdl = & AN | qu1 SYfd A g
AHR

(D) faexft fafma T #), wiva gfig % st
gfaea 9 399 e |

Y&k AR] S 1 9RO Bl §

(A) AE HIA & HiEd H gig

(B) I Wi § =] YT F HAl

(C) Tq¥i T =Y ST HIeT % SRe] Seare
dgfs

(D) S Gt
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65.

66.

Match the lists :
List - I List - II

(a) IBRD (i) Building
infrastructure

(b) IDA () Soft loan window

() IFC (i) Lending to
private sector

(d) IMF (iv) Balance of

payments deficit
Code :
@ () © (@
(A) @) @ @) W)
® @ @ @) (i
© 6 G @) @)
(D) @) @ (@v) (i)

Special Drawing Rights (SDR) is currency
of International Monetary Fund, is in the
form of :

(A) Paper Currency
(B) Gold
(C) Silver and Gold

(D) Only entry in form of book keeping

65.

e gfeal s faem i
qER - 1 gt - 11
| () smeteamrE. () fafeSn spRgER
(b) MmEELT (i) W o
€ SRUBE (i) ST Wgee At
(d) 3TE.TH.TF (v) 8T eiw A=
Sfpdte

66.

He

@ @G (© @
(A @ @ @ @)
(B) @ G Gv) (@)
© @& @ @ W)
D) @ @ @) (@)

o ameror SifyeR ST Hg81 W &t
e %, Ie fore ®9 § it 772

(A) FETSH R
(B) @

(C) T & wf
(D) W =& @ yfafe & w9 4§
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67. Match the following List - I with List - IT :

List -1

(@) W.T.O.

(b) LMF.

(c) LD.A.

(d) Trans-Pacefit
Partnership

Code :

(A)

(©)

(D)

i

i)

(iv)

(iv)

(b)

(iv)

(iv)

i

&

(iv)

List - IT

Trade Agreement

Sanction of Soft
Loan

Generally forbids
the use of
quantitative
restriction

on trade

Provide

finance to
correct
disequilibrium in
balance of
payments

(d)

67. qeI -1 T - 14 firemsy

et - 1

(a) T3

(b) SE.TH.IF.

(©) ARELT

(d) TH-TEFie

~

- @

(B)

©

(D)

(i

(i)

(iv)

(iv)

(b)

(iv)

(iv)

(i)

(i)

(iv)

et - 11
SR T

WG A I

ST

HHE: IR
HETEHS ST &
gy 1 Jehar E

RSEERC Uk

Y e o
QYR & g
anffer TerEar <
®
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68.

Which of the following country is not a  68.

member of ASEAN ?
(a) Indonesia

(b) Japan

() Vietnam

(d) Bruni

Code :

(A) (b) and ()

(B) (a) and (b)

(©) (d) only

(D) (b) only

Which one of the following is not the 69.

objective of monetary policy in India ?
(a) To accelerate economic growth
(b) To achieve price stability

(c) To regulate foreign trade

(d) To determine exchange rate
Code :

(A) (a) and (q)

(B) (b) and (c)

(©) () and (d)

(D) (a) (c) and (d)

Frer & Q19 w1 2w I R U T 22

(a) ECSIEIND|

(b) SUH

(d) T

(A)  (b) 3 ()
(B) (a) 3R (b)
(C) e (d)
(D) % (b)

= ¥ w9 W vra ® gen Aifa w1 =
T2

(a) s forema 1 Rd F

(b) oo Teerar st wiftd e

() Tacw =R =t frafia s

) fafma st fruifa s

(A) (a) 3 (0)
(B) () ()
©) (o) ¥R ()
D) @), (¢ R (@)
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70.

71.

72.

Assertion (A) :

In India the role of monetary policy in
general is to achieve growth with stability.

Reason (R) :

RBI providing credit to industry and
agricultural sector at cheaper rate of
interest.

Code :

(A) Both (A) and (R) are correct and (R)
is the correct explanation of (A).

(B) Both (A) and (R) are correct but (R)
is not the correct explanation
of (A).

(C) (A) is true, but (R) is false.
(D) (A) is false, but (R) is true.

The Certificate of Deposit (CD) is
a instrument and is issued for

the duration

(A) capital market ; upto 6 months
(B) capital market ; upto 3 months
(©) money market ; upto 12 months

(D) money market ; upto 6 months

Spot the odd term out from the
following :

(A) New Issue Markets
(B) Government Securities
(C) Mutual Funds

(D) Commercial Papers

70.

71.

72,

AfHT (A) :

A #, a1 Afa w wme gfie e
et & w1 sl gfg wem)

U7 (R) :

A HL.3TE. &M o Fiy &6 9 =
H&IT S R YR & ¥

Q;R‘:
(A) (A) T (R) I wE ¥ @R (R),
T el AT F |

(B) (A) 9 (R) 3 ¥t € T (R),
1 TE e T

©) (A) 99 ¢, g (R) 39 &1
(D) (A) 39 T, g (R) TA 81

feqifste =1 g9 v w
T TS § A & fore <
foma ST % |

(A) STt SISIR; 6 HENT
(B) St SOIR; 3 HET
(©) 981 9NIR; 12 HEHt
(D) ¥R 9NR; 6 TR

= 7 oo ve =1 fafvea wifs

(A) 399 Wrhe
(B) w&rt uffa
(C) =TI Hed
(D) Al Iud
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5.

The monetary policy based on monetary
targeting in India was recommended by

(A) Narsimhan Committee, in 1991
(B) Chakravarty Committee, in 1985

(C) Rakesh Mohan Committee, in 1985
(D) Taraporewala Committee, in 1985

What can you say about these

statements ?

(I)  All nationalized banks in India are
scheduled banks.

(II) All scheduled banks in India are
nationalized banks.

Code :

(A) Statement (I) is incorrect and
statement (II) is correct

(B) Statement (I) is correct and
statement (II) is incorrect

(C) Both the statements are correct

(D) Both the statements are incorrect

Assertion (A) :

Post reform liberal trade policies have

stimulated India’s economic growth.

Reason (R) :

Private enterprise got opportunities to

contribute to growth of India’s

manufacturing industry. |

Code:

(A) Both (A) and (R) are correct and (R)
is the correct explanation of (A)

(B) Both (A) and (R) are correct, but (R)
is not the correct explanation of (A)

(C) (A) is false, but (R) is true

(D) (A) is true, but (R) is false

73.

74.

75.

IRA ¥ A& A&F o YR W gl Hifd =i
R fRen foman an?

(A) THET HiHfa - 1991
(B) whadl fHfd - 1985

(C) hT HigH @fHfd - 1985
(D) TRIYEEreN HiHfd - 1985
T HAl W Y T fo=ar 2

() oG d wft Udiaga o PR o
gl

(1) Rd H Tt e Sk T o
g

%<

(A) FUF (I) T § AR FUA (1) 9L 2|

(B) U (I) TE ¥ 3R wem (1) oW T

(C) < wmwd €
(D) i A TTEd B |

ARERIT (A) :

IR MR G & 9 vRa § Shfees
g # TS 1R B

T (R) :

st Sem =1, W o fafwio e & gfg o
TeanT 1 Hreht e §

%

(A) (A) T (R) 39 & € 2R (R), (A)
i el S €

(B) (A) Tl (R) B TE €, T (R), (A)
! T e T R

(C) (A) ¥9A &, T (R) T T |

(D) (A) F ¥, T (R) 39 T |
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763

77.

Assertion (A) : 76.

Information and Technology (IT) indusiry
is a high knowledge based industry that
has developed rapidly in India.

Reason (R) :

Industry that is based on high knowledge
does not need any support from the
government.

Code : ;

(A) Both (A) and (R) are correct anid (R)
is the correct explanation of (A).

(B) Both (A) and (R) are correct, but (R)
is not the correct explanation of (A).

(C) (A) is true, but (R) is false.

(D) (A) is false, but (R) is true.

Match the following List - I with
List - II : k
List - I List - II
(@) Regulationof (i) FEMA
Capital Market
(b) Industrial Policy (ii) Balanced

Budget
(c) Selective Credit (iii) SEBI
Control
(d)  Fiscal Policy (iv) RBI
Code :

@ () () (9
(A) @) & @(v) @)
(B) @) @) @v) @
© @) Gv) @ @

DO @) @ @ @

77.

e (A)
1 o et e 5= 9 sl
© forere faeme wa & 950 & gam ¥

HIT (R) :
I JM ARG 3T ! TR Gl
JMevHar &l vl &

TR

(A)

(B)

©
(D)

(A) 7o (R) I @& ¥ SR (R),
i TR ST R

(A) @2 (R) S W& €, 9 (R),
! T e TE ¥ h
(A) 9 T, 9% (R) 319 B
(A) 319 &, g (R) 9 T

Tt - 1 gl - 11 9 frerm s

(@)

(b)

(©)

(d)

E TR

(A)
(B)
©
(D)

T - 1 Tl - 11
fasma @ %
IRREE]

afenfies Hfifs (i) Hgfer =1

Yeifoes hfee (i) @
REL
TR fifd (iv)  SARER.eTE.

@ ® © @
@ O @ G
@) @ @ o
@ ) @ o
) @) 6 @
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3.

Starting from the earliest, arrange  78.

chronologically Chairman of Finance
Commissions

(@) C. Rangarajan
(b) Vijay Kelkar
(€) K.C. Niogy
(d) Y.V.Reddy
Code :

(A) (9), (b), (d), (a)
(B) (9, (), @), (@
© (@), (d), (9) (b)
(D) (d), (a), (b), (9)

Arrange the following in chronological 79,

order :
(a) Nationalization of 14 major Banks
(b) Nationalization of SBI

(c) Nationalization of RBI

(d) Nationalization of LIC

Code :

A) (@), ) @, ©

B () ®) @),

© (), (0), (d), (a)

(D) (o) (), (d), (a)

o SmEm % STemell W) HICHHATAR SgR

w9 ¥ fod .

() Ht. s
() Fooma e
(©) .9 fEnd
(d) == EE
He:

(A) () (b), (@), (a)
(B) () (b), (@), (d)
© @, () (9 ®
(D) (d), (a), (b), ()

Fr=fafaa i ST § 9oy |

(a) 14 T KT A TLTH
(b) THH.IME F ALIR |
(¢ SRR A TR
(d) TAIMRHEL H ULIH
e

(A) (@), (b), (d), ()

(B) (© ®), (a), ()

© ®), () @) @

(D) (9, (b), @), (a)
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80.

81.

82.

If consumer price index for April 2016
was 120 and in April 2017 the same

© increased to 126 then the percentage rate

of inflation will be :
(B) 6

(C) 12.6

(D) 10.5

Under AOA all trade distorting domestic
support is placed in one box called

(A) Green Box

(B) Blue Box

(C) Amber Box

(D) Special and Differential Box

Assertion (A) :
There would be provision of food surplus

to the expanding population in labour
surplus economies like India.

Reason (R) :

Food price rises steeply due to increase in
demand.

Code :

(A) Both (A) and (R) are correct, but (R)
is not the real cause of (A).

(B) (A) is correct, but (R) is not correct.
(C) (A) and (R) both are not correct.

(D) (A) is not correct, (R) is correct.

80. % 37T 2016 % ford SR HF -

81.

82.

ol 3R T 2017 & 98 wige 126 & T
HETERITT it Fiowra <X 8l

(A) 5
(B) 6
C) 12.6
(D) 10.5

FY & qHEa & STria MR oI g &
I FHY =] TRl 1 U sty | T
§ ol #ea € :

(A) =a afaw

(B) e sfe

(C) TR dfe

(D) o9 T ST st

AR (A) :

IRE S 99 enfus et steferemeet

el g8 SEen ¥ fau ‘are-snfe

EICOIENERIRS S RC | Fi

I (R) :

Tt ¥ gfis % w0 ErE-veeE # F e O

Q et B

%<

(A) (A) 3R (R) 31 W& & frg (R), (A
T TR SR ST T8 & |

(B) (A) W&l ¥, fohg (R) et 7 ¥

©) (A) 3R (R) B Wt 7 ¥

(D) (A) 93 7 &, (R) WEl &)
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3. Match the following : 83. ThHem =i :

List - I List - II gt - 1 ' gt -1
(Scheme) (Year) (SreTd ) (ad)
(a) PMFBY (i 2014-2015 (@) VUM WO () 2014-2015
S |
(b) RKVY (i) 2005 (b) THT FHY (i) 2005
: o 2
() MIDH (i) 2007-08 () TEFT TR () 2007-08
foprg fiem
(d MNREGA (iv) 2016 (d) T TiTeh U (iv) 2016
T
Code : %<
@ () () (d @ () © (.
@) @ @ O @ B) (@) @ @ @)
B @ @ Gv) () (B) @@ @ @) (iii)
© G @ 6 @ © @ @ 6 @
©) @ v @ ) ©) O ) @ @)
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84. Arrange agricultural credit providing 84, FMW W@ YEH T el gesi B
institutions as per their share contribuiion M % R 9 | afeed Hifsg

in ascending order :

(@ NABARD (a) F&TE

(b) Nationalised Commercial Bant (b) UEIFH foferer S

(c) Cooperative Banks (c) uEel 9%

(d) Regional Rural Banks (d) & amor S

" Code : ¥z :

By @ © O @ (A) (@, ©, ©), @
U@ @, )@ @ (B) (@), ®), ©, ()

© © 0@ @ © © ©, 6@, @

@ ). @), © @ D) ®) @ © @

85. Afrange the Industrial Policies and &cts 85,  3enfire =fiferal ue sifufiasi = 5% &

as per their approved year : Y % YR R G HIT :
(8) New Industrial Policy (a) T SinfTew Hifa
()  National Manufacturing Policy (b) T ferfior Af
(c) Industrial Policy Resolution (c) S¥ifs fq R
(@) Make in India (d) #% T e
" Code : : He
(A) @, ®) () @ (A) @ (b)), (d)
B © @ b)) (B) (o), (@), (b), (d)
© ®) @ @), @ ©) (), (©) @), (d)

(D) (d), (®), (@), () D) (@), (), (), (o)
3 SPACE FOR ROUC:H WUKK / T % & fordt g
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6.

Assertion (A) :

The value of “r” =0.8 does not indicate a
relationship twice as close as ‘r’ =0.4.

Reason (R) :

The closeness of relationship is not
proportional to “r’.

Code :

(A) Both (A) and (R) are correct aﬁd (R)

is the correct explanation of (A).
(A) is correct, but (R) is not correct.

Both (A) and (R) are correct, but (R)
is incorrect explanation of (A).

(R).is correct, but (A) is incorrect.

Assertion (A) :

For large sample size all distributions tend
to normal distribution.

Reason (R) :

The basic assumption in all the exact
sample tests the parent population from
which samples are drawn is not normal.

Code :

Both (A) and (R) are correct and (R)
is the correct explanation of (A).

(A) is correct, but (R) is not correct.

Both (A) and (R) are correct, but (R)
is incorrect explanation of (A).

(R) is correct, but (A) is incorrect.

86.

87.

FFHFHLT (A) : o
17=08 FE9, ‘Y % Y 04 F i Q

Tﬁﬁmaﬁmﬂﬁml

RUT (R) :

ol ot Tehaa ‘v o ST el erel &)
5 “

(A4) (&) ¥R (R) 1 2 aﬂr (R) (a)

%! 9E e B
(A) TE &, =g (R) W& T R

(A) 3R (R) T ¥t €, W (R), (A)
H TTeld TS B

(R) T8 ¥, W (A) oW 2 |

(B)
©)

(D)

sfuemeT (A)

TS ST T Y & ford we faaor ame
foraeo 21 v €1

HRUT (R) :
wﬁamﬁwquﬁmﬁwﬂfrm%
% o1 STgE, ﬁmﬁﬁm&?mw%
= e §

e

(A) (A) 3R (R) I w& ¥ R R), (A)

! TE =R R
(A) T E, W(R)Hﬁ‘—lﬁ%l

(A) #ir (R) 2 T &, W (R), (A)
S TToTd e ¥

(R) W& ¥, TG (A) T €

(B)
©

(D)
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88.

89.

Assertion (A) :

Universe distribution is emerge when
each and every item of the universe is
studied.

Reason (R) :

There is full knowledge about its mean
and standard deviation.

Code :

(A) Both (A) and (R) are correct and (R)
is the correct explanation of (A).

(B) (A) is correct, but (R) is incorrect.

(C) Both(A) and (R) are correct, but (R)
is incorrect explanation of (A). -

(D) (R) is correct, but (A) is incorrect.

Assertion (A) :

Marginal rate of substitution is computed
by total differentiation of utility function.

Reason (R) :

Movement of the consumer along the
same indifference curve the value of total
differentiation is zero.

Code :

(A) Both (A) and (R) are correct and (R)
is the correct explanation of (A).

(B)  (A)is correct, but (R) is not correct.

(C) Both (A) and (R) are correct, but
(R) is incorrect explanation of (A).

(D) (R) is correct, but (A) is incorrect.

88.

89.

ATHHL (A) :

Ty oo 9 3ufeed B € w9 @
el e 1 3TeTF fopan 5|

N7 (R) :
mmwwwﬁamwwm'

%
(A) (A) 3R (R) 3 w& § 3T (R)
% e e B

(B) (A) W& 8, Wg (R) Wel & ¥

(©) (A) 3R (R) I T € o (R)
1 TTeTd ST B

(D) (R) W&l &, 9% (A) TTerd |

e (A) :

FcreTa St S Xkt 7oA ST
% Hehel STasher gRI F1 1 Wl T

hIRUT (R) :

SYHIHT o HHH STl 56 T | T
HIFAT YA |l ¢

%<
(A) (A) ¥R (R) 3 W& § ofR (R),
! TE = ¥ |

(B) (A) W@ §, W (R) &t 7 2

© (A) ¥R (R) 3 W& & W (R),
1 TTeTd AT ¥

(D) (R) W& ¥, 9% (A) e £
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Given C=4x3-9x2+10x+10 :

Group -1 Group - 11
Average Cost (i) 8x— 9+%
X

(AQ)
Slope of AC (i) 12x2—18x+10
Marginal (iii) 24x-—18
Cost (MC)
Slope of MC  (iv) 4x% - 9x+10 +1£-
Code :

@ () (¢ (d
(4) @ @ @) (@)
(B) (v) @) @@ (i)
© @ @ @)
O) @) G @ @

Consider the following statement :

(a) Birth rate is the number of live
births per lakh persons in a year.

(b) In India, sex ratio is defined as the
number of females per 1000 males
in the population.

Which of the above given statement(s) is/

are correct ?

(A)

(B) Both (a) and (b) are correct

(C) Only (b) is correct

(D) Both (a) and (b) are not correct

Only (a) is correct

90.

(b)

©)

(d)

91.

AN Her C=4x3— 922 +10x +10 53 2
L
g - 1 g - 11
SIS (i) 8x—»9+%
X
ofted @md &t (i) 12x2—-18x+10
K]
Y= ArT (i) 24x—18
HEd AN i (iv) 4x2—9x+10+%
T
ETE
@@ () (@ (9
(A) @ @ @) @)
B) @) @) @) ()
© @ @) @v) (@
(D) (@v) (@) @) ()
T gekier W foram whifs -
(@) S R & 7 T ¥ A yfa T
el W Shfad s it g @ ¥
(b) WRa H fdmguE s e 9fd &R
Ty SHE W e e R

IR fgd ™ awey # @ wib 9/9
we?

(A) A (a) T T

(B) (a) W (b) T el €

(C) %9 (b) W& &

(D) (a) W& (b) T &t WL IE §
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92.

93.

Correct formula for determining Gross 92.

Reproduction Rate (GRR) is :

W,
(a) GRR=) FI,
W

(b) GRR=TFRXSEX RATIO

W2
() GRR=YFIL EP,
Wy

d GRR=-2x1000
FP

x
Code :
(A) Only (a) and (b) are correct.
(B) Only (a) and (d) are correct.
(C) Only (b) and (c) are correct.

(D) All the above are incorrect.

Assertion (A) : 93.

Population of India during 2001-2011 has
increased.

Reason (R) :

Death rate during the same period has
decreased.

Code :

(A) (A) is true, but (R) is false.

(B) Both (A) and (R) are true and (R)
is the correct explanation of (A).

(C) Both (A) and (R) correct, but (R) is
not the correct explanation of (A).

(D) (A) is false, but (R) is correct.

TRe TR ST (GRR) I & 7 3
ER

() GRR=)FI,

(b) GRR=TFR xSEX RATIO

W2

(© GRR=) FL FP
W
Bx

(d) GRR=—X-x1000
FP

E TR

(A) e (a) TH (b) TE )
(B) T (a) T (d) WEl 1
(C) o (b) T (c) W& &1
(D) IRaa et Tord §1

AfuwaT (A) :
2001-2011 31afy H YRA &t TGS 9 §

IUT (R) :
T orafy ¥ gog X F et o7 §)

qe?:

(A) (A) 9@ ®, WY (R) e g1

(B) (A) W (R) SHi §&t € W (R), (A) &
e A=A HT R

© (A) @ (R) I W €, T (R), (A
i W& T TE H @I T

(D) (A) 7@ ®§, WY (R) T 1
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94. Which is the major shift under the Global ~ 94.

economy in recent age ?

(A)

(B)

©)

(D)

95. Arrange the following in increasing order 95.

There is rise in the share of emerging
economy as compared to developed
economy in World Exports.

Most of the countries have involved
greater reliance on exports and
foreign exchange reserve.

High buildup current account
surpluses and reserve has created
global imbalances and instability in
the International Monetary System.

All the above

according to rate of inflation :

(@)
(b)
(©)
(d)

Walking Inflation
Creeping Inflation
Hyper Inflation

Running Inflation

Caode :

&)
(B)
(©)

(@), (c), (b), (d)
(b), @), (d), ()
(@), (), (0), (d)

(d), (), (@), (9)

Afaew srefememen & srwia adue gag o
fored w@ aieds & wi R ?

(A) fava =% frafa § st g8 stefemeren
& fee o forenfia <3 =6t gor 4 g
AW T

(B) sifueriyr 3w Frafa wd focsht fafma
YUER ) e T 31f 9 2 @ ¥

e W % Sfue dgM ud faaeh
fafa w9 %1 sgd I ¥ Sfew
SfefeEee § STHM U STfeRa H
fearfa oo T G 7

(D) S |t

(©)

ﬁﬂﬁﬁf@ﬁ@gﬂ?ﬁﬁaaﬁa@@mﬁ
Hafeea s -

() = g8 R
(b) O g8 HRTEHI
(c) fad whifa

(d) et g€ ETEwIfa
he:
(A) @ (), (), (@
(B) (b), (@), (d), (¢)
©) (@, ®) () @)
(D) (), (b), (a), ()
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96.

97.

From the tests listed below, which test will
you use to test for autocorrelation ?

(A) Park Test

(B) Goldfield-Quandt Test

(C) Breusch-Pegan-Godfrey Test

(D) Breusch-Godfrey Test

The Cournot Duopoly Model assumes
marginal cost of production

and also assumes that the other

competitor in the market holds his
constant.

(A) non-zero ; price

(B)  zero ; output

(C) zero; price

(D) non-zero ; output

96.

97.

WHeHsY H Wiw % fau = 6 9 ey
T&ToT BT ST R SR ?

(A) R W
(B) TiceHiTe-Fi qdter
(C) FU-THE-Tek ghem

(D) gH-TiEh e

FHIE SSie Wi, SaeT % divia wh
AT ® SR 98 ot g € fw

TSR | 3= yfaeqet soo

feeris # I8 wEd §)

(A) IEW; FHAd
(B) I; SEH
(C) I=; wimd

(D) E&W; S
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98.

99.

The Bretton Woods system of exchange  98.

rates was originally conceived in-
and could be best described
as system.

(A) 1947 ; market driven
(B) 1945 ; floating
(C) 1944 ; fixed but adjustable

(D) 1973 ; flexible

What is the cluster of policies that is 99.

pursued in respect of RRBs in recent
times ?

(a) Amalgamation
(b) Consolidation

(c) Branch expansion

(d) Voluntary retirement of bank staff
(e) Credit Squeeze

Code :

(A) (b), (o), (d)

(B) (9, (d), (e)

© @ ()

(D) (a) and (b)

faftra R &1 de7-g8Y 31 hl qdd:

i o o SR walhH
TWeh § 39ehT faavor T &% ®9
T foar <1 gl 2|

(A) 1947; TSR YRa
(B) 1945 ; gewifera
(C) 1944 ; TER, Tty wHsH

(D) 1973 ; uREd=Eita

il o 3 A ¥ = B e g v g
RS, o Fae § ITANT gl o1 7

(@) Tagw

(b) wHEFT

(c) e fasmy

(d) S S 1 @os Ja s

() YR W HyEL

A) ®)© @
B (© @
© () © @
D) (@) T b)
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100. Aggregate foreign investments in India

during the post-reform period show wide

fluctuations, mainly because :

(A) Indian economy has been showing

(B)

©

(D)

cyclical changes.

Foreign portfolio investments are
showing sharp fluctuations.

India’s foreign trade policy has not
been conducive to growth of
foreign investment,

The policy of RBI is not very
favourable to foreign investments.

-00o0-

100. IR-AMfF GuR et % <RA W &
ﬁﬁﬂﬁéﬂﬁwwﬁ—mé@w
S g7 wro

(A) R sreferaen s wRadT Tk

(B)

©

(D)

gl

ﬁémﬁé%ﬁrﬁasﬁﬁ?ﬁaw—m
e €1

WRA 1 ferewr =mR Hif fdsht frds
& g & o srgge i §)

SLE.3E. @t Hifrar s faw %
o s1qper 7 1

~-00o0-
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ST 3ifeRrd & T w2 G 0 AR e : 2
Time for marking answers : 2 Hours } Maximum Marks : 2(
M

1 30 -3 & 100 W9 § - Welid Ue 2 o w1 ¥ wolt e vt o o

T % S, F T OMR FW-¥e (3ne-3iz) T R ifem)
HROCHe: qedioha &l feman s )
forelt +ft e % TN A A TeveT T WA B w1 W i )

OMR SW-¥ile (3TER-3M2) HT Y4 Hd G5 Vet s ST 7 /a8 98 Fe 93 7
I Hrg =1 faerae ofE v o frh werered 98 BE @ S |

Note :

1.

There are 100 objective type questions in this booklet. All questions are compulsory and
carry two marks each.

Indicate your answers on the OMR Answer-Sheet provided.
No negative marking will be done.
Use of any type of calculator or log table and mobile phope is prohibited.

While using OMR Answer-Sheet care should be taken so that the Answer-Sheet does not get
torn or spoiled due to folds and wrinkles.
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